ORG2701HY, Carousel - stand HPL and steel

Date: 20211214  Subject: Viewl
Rev: 20211214  Drawing no.: ORG2701HY_00
Page nr.: 1/5  Scale: None
Paper: A4 Drawing by:  Jan Routh Sgrensen

O,

o

T
<60cm |FH

Areal 20m?
Periferi 16m

Mountin
Copyright Elverdal Ag/S. E I Ve rd a I

Q INFO
VIGTIGT: Hele anlagget skal samles far der stgbes beton
EN 1176 IMPORTANT: The entire facility must be assembled before mould in concrete
WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird




ORG2701HY, Carousel - stand HPL and steel

Date: 20211214 Subject: Assembly
Rev: 20211214  Drawing no.: ORG2701HY_00
Page nr.: 2/5  Scale: None

Paper: A4 Drawing by:  Jan Routh Sgrensen

O,

o

T
<60cm |FH

Areal 20m?
Periferi 16m

Mounting

Copyright Elverdal A/S.

EN 1176

Elverdal

INFO

VIGTIGT: Hele anlagget skal samles far der stgbes beton

IMPORTANT: The entire facility must be assembled before mould in concrete
WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird




ORG2701HY, Carousel - stand HPL and steel

Date: 20211214  Subject: Front M oun t | N g

Rev: 20211214  Drawing no: ORG2701HY_00 E I Ve rd a I
3/5  Scale: 1:20 Copyright Elverdal A/S.

Page nr..

Paper: A4 Drawing by:  Jan Routh Sgrensen

900

95

§

o |A 110

o

400

600

_600X600

o INFO

° VIGTIGT: Hele anlagget skal samles far der stgbes beton

° a — EN 1176 IMPORTANT: The entire facility must be assembled before mould in concrete
<60cm |FH : WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament

Areal 20m?

Periferi 16m betoniert wird




ORG2701HY, Carousel - stand HPL and steel

Date: 20211214  Subject: Foundation plan
Rev: 20211214  Drawing nr. ORG2701HY_00
Page nr.: 4/5  Scale: 1:50

Paper: A4 Drawing by:  Jan Routh Sgrensen

Mounting

Copyright Elverdal A/S.

Elverdal

O,

T ;
<60cm |FH

Areal 20m?
Periferi 16m

1000

O
EN 1176

(5000

INFO

VIGTIGT: Hele anlagget skal samles far der stgbes beton

IMPORTANT: The entire facility must be assembled before mould in concrete
WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird




ORG2701HY, Carousel - stand HPL and steel

Date: 20211214
Rev: 20211214
Page nr.. 5/5
Paper: AL

Subject:
Drawing no.:
Scale:

Drawing by:

Bill of materials
ORG2701HY_00

None

Jan Routh Sgrensen

Mounting

Copyright Elverdal A/S.

Elverdal

Karrusel - sta HPL og stal

Carousel - stand HPL and steel

Karussell - stehen HPL und Stahl

Antal/
Quantity/
Pos: Betegnelse: Name: Bezeichnung: Anzahl:
1
2 [Nedstgbningsrar Concrete mounting tube Nabensaule 1
3 [Karruselplatform Carousel platform Standflache 1
4 |M8x40 Braeddebolt M8x40 Carriage bolt M8x40 Schlosschraube 6
5 [M8 Topmgtrik M8 Hex cap nut M8 Hutmutter 6
6 |M8 skive M8 Washer M8 Scheibe 6
Monteringsvejledning Mounting instruction Installationsanleitung 1

O,

T
<60cm |FH

o

Areal 20m?
Periferi 16m

EN 1176

INFO

VIGTIGT: Hele anlaegget skal samles far der stgbes beton

IMPORTANT: The entire facility must be assembled before mould in concrete
WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird






